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ANSWERS

1(a) (1)-196 (i) 714 Q (ii1) 1961 Q

(b) (1)-5.83 (it) 2330 Q
2(b) )H)R=1kQ

(it) open-loop gain: f—}—l-o——;—- ; closed-loop gain: ﬁz; -3 dB frequency: 369.36 kHz
120 120

(c) (1)-6.8 (i) -47.6
3(b) (1)13,122 A (i) 9067 V (1) 203 ° last part: 27.6 °
4 (b) (i) 4006 A (ii) 1002 A (iii) 229 MVA  last part 0.7 Q

5(b) (i) Xn=184 Q, Ro=861 Q R/ =32Q, X;=X,'=195Q
(c) (1)0.01333 (i) (47.9+70.1) Q (ii)) 8.5 A (iv) 20.9 Nm

6 (a) characteristic impedance: 50 Q Transmission frequency: 781.25 kHz
(b) first incident wave: 8V (1) 1.28W (i) 1.28W (1)) OW
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7 (a) 6.37pWm? (i) 12.7 pW (i) 0.504 nA
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